4B 75N IRFEAER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH &h Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik

487H 1F3 B 200| 108 21,600 54/ 10,800 54 10,800
48108 |4F3 B 200 72| 14,400 44| 85800 28| 5,600
48148 |4Fd B 200 91 18,200 66/ 13,200 25 5,000
4817 |4F3 X 200 67| 13,400 30| 6,000 37| 7,400
48218 |4F3 B 200| 101 20,200 66/ 13,200 35 7,000
Abvy (A3 200 9| 1,800 9] 1,800 0 0

48248  |4F3 B 200 66| 13,200 42| 8,400 24| 43800
4H28H |4F3 B 200 52| 10,400 37| 7,400 15/ 3,000
& 113,200 69,600 43,600




5 AR5 RERFE AR

36, —R&E (3 BR5E | 15N S BRFE(ES])

HR5EH @B MrEs| Hifi | BE | €5 | 8E | €% | BE | £4 &%
5H2H AF3 T 200 91| 18,200 50| 10,000 41| 8,200
5A8H 1F3 B 200 71 14,200 52 10,400 19| 3,800
FHAE IR 300 54| 16,200 23| 6,900 31 9,300
58128 |4F3 Fx 200 35| 7,000 0 35 7,000
5H22H |RM4A% Fx 400 12[ 4,800 0 12| 4,800
RAHK Fx 600 3] 1,800 0 3] 1,800
5248 |RA4A% Fx 400 14 5,600 0 14| 5,600
RAHK Fx 600 2| 1,200 0 2| 1,200
5H26H |RA4AH Fx 400 8] 3,200 0 8| 3,200
RAHK Fx 600 1 600 0 1 600
5H29H |RA4A% Fx 400 5| 2,000 0 5| 2,000
RAHK xR 600 4] 2,400 0 4| 2400
5H31H |RM4A% Fx 400 18] 7,200 0 18] 7,200
RAHK Fx 600 2| 1,200 0 2| 1,200
&t 85,600 27,300 58,300




6 A 715N AR ST AR

36, —R&E (3 BR5E | 15N S BRFE(ES])

HR5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%
6H2H AAHhH Fx 400 6] 2,400 0 6] 2400
RAHK xR 600 7| 4200 0 7| 4200
6 A5H AL AH B 400( 110 44,000 68| 27,200 42 16,800
RAHK Fx 600 40| 24,000 33| 19,800 7] 4,200
6H7H AAHhH Fx 400 88| 35,200 43| 17,200 45| 18,000
RAHK Fx 600 63| 37,800 48| 28,800 15/ 9,000
6H9H AAHhH Fx 400| 119 47,600 68| 27,200 51| 20,400
RAHK Fx 600 77| 46,200 46| 27,600 31| 18,600
6H12H |RM4A5 Fx 400 55| 22,000 28| 11,200 27| 10,800
RAHK xR 600 77| 46,200 70[ 42,000 7| 4200
6H19H |B*¥ Fx 200 46| 9,200 29| 5,800 17| 3,400
AAHHF Fx 400 34| 13,600 34| 13,600 0 0
AAAKX Fx 600 13| 7,800 13| 7,800 0 0
6H20H |BR¥ B 200 22| 4,400 9] 1,800 13| 2,600
68210 |BRXERM) FE 300 17| 5100 0 17| 5,100
AAHhH Fx 400 39| 15,600 10| 4,000 29| 11,600
AAAKX Fx 600 31| 18,600 10| 6,000 21| 12,600
68228 |BRFXERLHD) B 300 47| 14,100 9] 2,700 38| 11,400
68298 |&F R 100 10/ 1,000 0 10| 1,000
e RiE 100 4 400 0 4 400
6H30H |RA4AH Fx 400 18] 7,200 0 18] 7,200
RAHK Fx 600 16/ 9,600 0 16/ 9,600
AAHB(R) R 400 24| 9,600 13| 5,200 11] 4,400
AAHKRER) RiE 600 28| 16,800 28| 16,800 0 0
&t 442,600 559| 264,700 432| 177,900




7 A5 RERFEAER

26, —R&E (T BR5E | 15 R S BRFE(ES])
BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik

7A3H AR IR 100 8 800 0 8 800
4 R 100 7 700 0 7 700

TIVIT i 200 78| 15,600 60[ 12,000 18] 3,600

AL AH B 400 42| 16,800 4] 1,600 38[ 15,200

RAAHK Fx 600 72| 43,200 46| 27,600 26| 15,600
AAABPER) IR 400 20[ 8,000 20[ 8,000 0 0
AAHKRER) RiE 600 34| 20,400 34| 20,400 0 0

7H4H AAHhH Fx 400 38| 15,200 35| 14,000 3] 1,200
RAHK Fx 600 71| 42,600 33| 19,800 38| 225800

7H5H AAHhH Fx 400 44| 17,600 12[ 4,800 32| 125800
RAHK Fx 600 69| 41,400 58| 34,800 11] 6,600

7H7H Y IR 100 12[ 1,200 12| 1,200 0 0
E—< RiE 100 6 600 6 600 0 0

AL AH B 400 57| 22,800 21[ 8,400 36/ 14,400

RAHK Fx 600 72| 43,200 42| 25,200 30| 18,000

7H10H  |HT R 100 5 500 0 5 500
r<k RiE 100 13| 1,300 0 13| 1,300

E—<> R 100 4 400 0 4 400

AAHH Fx 400 35 14,000 0 35 14,000

AAAKX B 600 23| 13,800 0 23| 13,800

71R118 |59 IR 100 3 300 0 3 300
s R 100 10/ 1,000 0 10| 1,000

AAHH Fx 400 7] 25800 0 7 2,800

AAAKX B 600 20( 12,000 0 20[ 12,000

7H12B  |RM4AHH Fx 400 15| 6,000 15| 6,000 0 0
AAAKX B 600 18] 10,800 18| 10,800 0 0

78148 |59 IR 100 7 700 7 700 0 0
s R 100 12| 1,200 12| 1,200 0 0

E—< RiE 100 6 600 6 600 0 0

AAAH B 400 69| 27,600 15| 6,000 54 21,600

RAAHK Fx 600[ 101 60,600 68| 40,800 33| 19,800

78188  |&F R 100 8 800 0 8 800




36, —R&E (3 BR5E | 15N S BRFE(ES])

#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%
E—< R 100 10| 1,000 0 10| 1,000
AAHHF Fx 400 23| 9,200 5| 2,000 18] 7,200
AAAKX B 600 73| 43,800 62| 37,200 11| 6,600
7H198 | R1AXK Fx 600 11 6,600 0 11] 6,600
7H21H BT R 100 5 500 5 500 0 0
e RiE 100 6 600 2 200 4 400
E—< R 100 12| 1,200 1 100 11] 1,100
AAHhH Fx 400 6] 2400 6] 2400 0 0
AAAKX B 600 21| 12,600 15/ 9,000 6| 3,600
78248 |59 RiE 100 6 600 4 400 2 200
s R 100 7 700 7 700 0 0
E—< RiE 100 9 900 2 200 7 700
7H288 |##kiaESE (A3 200 21| 4,200 10| 2,000 11] 2,200
7310 |Fi#kiaBeE = 200 20| 4,000 0 20( 4,000
&t 532,800 299,200 233,600




8 A 715N ERFEAER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
8H1H E—<v RiE 100 14| 1,400 14| 1,400 0 0
EIEr N =) (A3 200 12| 2,400 5/ 1,000 7 1,400
ESPh S 350 49| 17,150 23| 8,050 26| 9,100
8A2H EIEr N =) (A3 200 5| 1,000 0 5| 1,000
FARE— f£= 200 24 4,800 4 800 20[ 4,000
8A3H ke S (A3 200 5| 1,000 0 5| 1,000
ES0oH Rt 350 13| 4,550 0 13| 4,550
8A7H ke S (A3 200 30[ 6,000 22| 4400 8| 1,600
8H8H EAE = N=) E= 200 55| 11,000 10| 2,000 45( 9,000
T AZ— EE 200 68| 13,600 24| 4,800 44| 8,800
FHK Fat 350 84| 29,400 31] 10,850 53| 18,550
K e e 350 27] 9,450 17[ 5,950 10/ 3,500
8H9H A=) EE 200 20| 4,000 20( 4,000 0 0
T AZ— EE 200| 108| 21,600 52| 10,400 56| 11,200
Ed—% fib ith 300 49| 14,700 20| 6,000 29| 8,700
=13 i ih 300 42| 12,600 14| 4,200 28| 8,400
8A10A |FikinES& = 200 45| 9,000 7| 1,400 38| 7,600
T AZ— EE 200| 123| 24,600 25| 5,000 98| 19,600
K e 350] 192| 67,200 85 29,750 107 37,450
Sl S g B 200 16] 3,200 0 16| 3,200
8H14H =K EEl 350 30| 10,500 17] 5,950 13| 4,550
Sl S 4 B 200 36| 7,200 30[ 6,000 6| 1,200
8A15H |S=k<h B 200 5/ 1,000 0 5/ 1,000
8H16H [¥XK e e 350 67| 23,450 0 67| 23,450
8H17H  |®AXE e 300 75| 22,500 42| 12,600 33] 9,900
Sl S g B 200/ 100 20,000 27| 5,400 73| 14,600
Ed—% fib ith 300 24| 7,200 0 24| 7,200
8A21H |E=k<hk B 200 74| 14,800 19| 3,800 55[ 11,000
hELTE Fx 200 17] 3,400 10| 2,000 7| 1,400
HHRONHE) | BH 450 74| 33,300 0 74| 33,300
8H230 |#HHR el 600 55 33,000 5| 3,000 50 30,000
FHRXF) e e 450 59| 26,550 32| 14,400 27[ 12,150




36, —R&E (3 BR5E | 15N S BRFE(ES])

#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%
8H24H |E=k<h B 200 42 8,400 13| 2,600 29[ 55800
b ERTE Fx 200 20[ 4,000 20[ 4,000 0 0
FHRXF) et} 450[ 110] 49,500 55 24,750 55 24,750
8H25H |RAXE el 300 70[ 21,000 25( 7,500 45 13,500
A Rt 300 78| 23,400 54| 16,200 24| 7,200
HHROHE) | Ré 400 48 19,200 0 48 19,200
8H28H |S=k<k B 200 57[ 11,400 23| 4,600 34| 6,800
FHR et 600 89 53,400 59 35,400 30[ 18,000
hELTE B 200 35 7,000 23| 4,600 12| 2,400
2 K(1.5) EE] 400 37| 14,800 0 37| 14,800
8H29H |2K(1.5) e e 400 17[ 6,800 17 6,800 0 0
BEX&h el 450 60| 27,000 41| 18,450 19| 8,550
8A31H |S=k<k B 200 29[ 55800 18] 3,600 11] 2,200
FHR EE] 450 18] 8,100 0 18] 8,100
hELTE B 200 51[ 10,200 12| 2,400 39[ 75800
2 K(1.5) S 400 72| 28,800 30| 12,000 42| 16,800
&t 760,350 296,050 464,300




9 AT ENARFEAER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| Hiff | BE| €8 | & | €8 | ®WE | 4 ik
9A1H SZhbk B 200 48[ 9,600 14| 2800 34| 6,800
— i BB 45t 350 70| 24,500 30[ 10,500 40 14,000
9A5H B =N=) (A3 200 5/ 1,000 0 5/ 1,000
Sl S 4 B 200 53| 10,600 20[ 4,000 33] 6,600
b ERTE B 200 37 7,400 22 4400 15 3,000
PR Rt 550 49 26,950 39 21450 10| 5,500
9A7H kb B 200 23| 4,600 14|  2.800 9] 1,800
hELTE B 200 37| 7.400 16| 3,200 21] 4,200
AR RAV] B 300 58 17,400 24| 7,200 34[ 10,200
9H8H PR e e 500 48| 24,000 0 48 24,000
98118 |[E=k=b B 200 93 18,600 28| 5,600 65/ 13,000
hELTE B 200 53| 10,600 24| 4800 29[ 55800
HZd—ILE S 350 50| 17,500 28| 9,800 22| 1,700
9A12H  |BA®¥ Fx 200 15[ 3,000 0 15/ 3,000
9A13H |BR¥ B 200 16| 3,200 0 16| 3,200
9148 |##kiaESE A3 200 6| 1,200 0 6| 1,200
SZhbk B 200 58] 11,600 31| 6,200 27| 5,400
hELTE B 200 29| 5,800 20[ 4,000 9] 1,800
hEoE ) 500 40[ 20,000 33[ 16,500 7 3,500
9A15H |MHR e e 500 46| 23,000 26| 13,000 20( 10,000
9198 |FikinEE S 200 68| 13,600 29| 5,800 39| 7,800
Sl S 4 B 200 41| 8,200 35 7,000 6| 1,200
b ERTE B 200 16| 3,200 16| 3,200 0 0
X AURAAY| R 300 74| 22200 40[ 12,000 34/ 10,200
9A21H [y A U RAAv] WEHh 300 34| 10,200 0 34| 10,200
EN =S, et 200 30| 6,000 14 25800 16/ 3,200
FOHE SR S 500 70[ 35,000 54 27,000 16] 8,000
avvS B 100 30[ 3,000 26] 2,600 4 400
9A228 |FikinEE S 200 60| 12,000 22| 4,400 38| 7,600
Sl S 4 B 200 72 14,400 43| 8,600 29[ 55800
hELTE Fx 200 9] 1,800 0 9] 1,800
ENSL BB 4t 200 15| 3,000 8| 1,600 7] 1,400




5t ., —fE M ER5E [ 35 ME 8 BRFE(ES)

HR5EH @B MrEs Hifi | KE | €% | HE | % | ¥=E | €8 &%
9A25H |#HEE (A3 200 18| 3,600 8] 1,600 10| 2,000
Sl S g B 200 77| 15,400 38| 7,600 39 7,800
hERTE e 200 13| 2,600 0 13| 2,600
9A27H |BA®¥ FE 200 17| 3,400 0 17| 3,400
9A288 [E=kXEH e 200 84| 16,800 60[ 12,000 24| 43800
hERTH Fx 200 19| 3,800 0 19] 3,800
9A29H |#FHBEE (A3 200 27| 5,400 6] 1,200 21| 4200
&t 431,550 213,650 217,900




10 A 215 MERFTAER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
10828 |S=kTE B 200 54 10,800 27| 5,400 27| 5,400
hERTE B 200 18] 3,600 18] 3,600 0 0
10A38 |#h#kfaESE (A3 200 15 3,000 0 15| 3,000
10848  |FikfaES& A3 200 13| 2,600 9] 1,800 4 800
EN =) S 200 70| 14,000 42| 8,400 28| 5,600
10858 |S=kXE B 200 57[ 11,400 28| 5,600 29[ 55800
hELTE Fx 200 8] 1,600 0 8] 1,600
$EABR(1.5) et 600 154 92400 108| 64,800 46| 27,600
1068 |#H#kfaE& (A3 200 23] 4,600 10| 2,000 13| 2,600
108108 [S=kXb B 200 85| 17,000 62 12400 23] 4,600
hELTE Fx 200 4 800 4 800 0 0
JOval)—(0.75 FHE 150 31| 4650 31| 4,650 0 0
10A11H [#HkfaEE E£EE 200 20| 4,000 0 20( 4,000
108128 |$ikfaE& A3 200 12| 2,400 12| 2,400 0 0
FEABR(1.5) S 450| 200 90,000 116] 52,200 84| 37,800
108138 [S=hkXb B 200/ 112 22400 67/ 13,400 45 9,000
hELTE Fx 200 6] 1,200 0 6] 1,200
Joval)—(0.75 FE 150 27| 4,050 0 27| 4,050
108168 |[S=k<k B 200 87| 17,400 53| 10,600 34| 6,800
hELTE B 200 2 400 2 400 0 0
108178 |FREZ— f£= 200 22 4,400 0 22 4400
$EABR(1.5) R 450 85| 38,250 51| 22,950 34| 15,300
CAFELA E 5} 250 25| 6,250 0 25 6,250
JOval)—(0.75 FHE 150 93| 13,950 43| 6,450 50[ 7,500
108188 |FREZ— (A=3 200 38] 7,600 20[ 4,000 18] 3,600
1081980 [FRE— EE 200 30| 6,000 0 30| 6,000
SZhbk B 200 78] 15,600 57[ 11,400 21| 4,200
hELTE B 200 6] 1,200 0 6| 1,200
FEABR(1.5) S 450 81| 36,450 43| 19,350 38| 17,100
108208 |FikfaE& (A3 200 18| 3,600 4 800 14| 2,800
T RE— (A3 200 25 5,000 8| 1,600 17| 3,400
Sl S g B 200 7] 1,400 7] 1,400 0 0




36, —R&E (3 BR5E | 15N S BRFE(ES])
AR5 H @B Hifi | #1= HE | 28 | ¥=E | 5
Z0va1)—(0.75 150 47 37| 5550 10/ 1,500
Bi) 250 30 30 7,500 0 0
FEAER() 250 70 37] 9,250 33| 8250
108238 |S=k<t 200 53 0 53| 10,600
Z0va1)—(0.75 150 44 0 44 6,600
10H26H |[7RZ— 200 31 0 31| 6,200
hERTH 200 11 0 11] 2,200
CAFE A 250 62 30| 7,500 32| 8,000
108278 |#H#kfaEE 200 38 30| 6,000 8] 1,600
FARE— 200 25 25 5,000 0 0
Sl S 4 200/ 238 79| 15,800 159 31,800
AR 300 45 45| 13,5500 0 0
HHE(1.5) 300 154 43| 12,900 111] 33,300
Z0vyal)—(0.6) 200 97 75| 15,000 22 4400
E#(0.8) 200 53 34| 6,800 19] 3,800
FEAER(1.2) 300[ 135 62| 18,600 73] 21,900
HA+¥3) 300 68 68 20,400 0 0
10H308 |#h#kfaE&E 200 13 8| 1,600 5/ 1,000
Sl S 4 200/ 103 73| 14,600 30[ 6,000
FERTH 200 14 14] 2,800 0 0
HHE(1.5) 300/ 100 79| 23,700 21| 6,300
Z0v3a1)—(0.6) x 200 34 27| 5,400 7] 1,400
108318 |[E—<> R 100 16 0 16| 1,600
by =) (A3 200 5 2 400 3 600
T AZ— EE 200 9 2 400 7] 1,400
HYr(E RiE 150 38 0 38| 5,700
Abvyo = 200 13 6] 1,200 7] 1,400
avVYS Fx 100[ 143 61] 6,100 82| 8,200
&t 456,400 365,350




11 A5 RNERFEAR

26, —R&E (T BR5E | 15 R S BRFE(ES])
BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik

A1 [FEEG) e 400 70[ 28,000 26| 10,400 44 17,600
11828  |[S=kXEb B 200 67| 13,400 41| 8,200 26/ 5,200
b ERTE B 200 18] 3,600 18] 3,600 0 0

Abvo S 200 15 3,000 8| 1,600 7] 1,400
Z0va1)—0.6)| FE 200 31| 6,200 0 31| 6,200

11A6H |FikfaEs (A3 200 19| 3,800 7| 1,400 12| 2,400
kb B 200 48[ 9,600 14|  2.800 34| 6,800

hERTE B 200 14] 2,800 0 14| 2,800

HYr(E R 150 20[ 3,000 17| 2,550 3 450

FTHAE IR 400 32| 12,800 26 10,400 6| 2,400
J0Ovyal)—0.6)| FHE 200 23| 4,600 20[ 4,000 3 600

A7  |HikfEs (A3 200 6| 1,200 5/ 1,000 1 200
Abvo f£= 200 12| 2400 7| 1,400 5/ 1,000

FEF(1.5) et} 500 83| 41,500 46| 23,000 37| 18,500

11A8H |#HtkfaE& (A3 200 1 200 0 1 200
1MA9H |FikfaEs (A3 200 4 800 1 200 3 600
Nl Fx 200 16/ 3,200 0 16/ 3,200

hERTE B 200 13| 2,600 0 13| 2,600

Abvo (A3 200 13| 2,600 3 600 10 2,000

11A108 |FikfaEE (A3 200 3 600 2 400 1 200
Abvo f£= 200 4 800 2 400 2 400
Z0ova1)—0.6)| FE 200| 129| 25,5800 55| 11,000 74| 14,800

[EES6:I) el 400 44| 17,600 20| 8,000 24| 9,600

#H(2) e e 400 40| 16,000 23] 9,200 17| 6,800

E#(2) S 600 40| 24,000 25| 15,000 15/ 9,000

11A138 |Fikfaas (A3 200 6| 1,200 2 400 4 800
S=hbk B 200| 106] 21,200 64| 12,5800 42 8,400

hERTE B 200 12| 2,400 12| 2,400 0 0

Abvo f£= 200 10 2,000 3 600 7| 1,400

FHAE IR 400 46| 18,400 18] 7,200 28 11,200

HE(2) S 400 70( 28,000 26| 10,400 44| 17,600

118148 |[E—<> R 100 18] 1,800 15| 1,500 3 300




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%

b =) (A3 200 2 400 2 400 0 0

Abvo (A3 200 3 600 3 600 0 0
J0Ovyal)—(0.75 B 150 79| 11,850 28| 4,200 51 7,650

E#©2) el 600 72| 43,200 33| 19,800 39| 23,400

11A168 |FikfaEE (A3 200 2 400 0 2 400
Nl s Fx 200 16/ 3,200 0 16/ 3,200

hERTH Fx 200 4 800 0 4 800

Abvo f£= 200 7| 1,400 0 7| 1,400

MA178 |FikfaEE (A3 200 3 600 3 600 0 0
FECAD AR 250 30[ 7,500 24| 6,000 6| 1,500

HiX AR 250 27| 6,750 21| 5,250 6] 1,500

~HELE AR 300 65/ 19,500 24| 7,200 41 12,300

Abvy (A3 200 19| 3,800 9] 1,800 10 2,000

AFCGAD AR 300 31 9,300 31 9,300 0 0
Joyal)—0.75 FHE 150 63|  9.450 25 3,750 38] 5,700

HHA B 200 90[ 18,000 40[ 8,000 50[ 10,000

118208 [S=hXb B 200 74| 14,800 53| 10,600 21] 4,200
Abvy f£= 200 9] 1,800 0 9] 1,800

1MA218 |HikfEas (A3 200 10| 2,000 8] 1,600 2 400
~HELE AR 300] 119] 35,700 52| 15,600 67/ 20,100
JOval)—(0.75 FHE 150 67| 10,050 33[ 4,950 34| 5,100

11H228 [#H#%AEE EE 200 2 400 2 400 0 0
Abvo = 200 17 3,400 8| 1,600 9] 1,800

11H248 [#H#kAEE (A= 200 6] 1,200 2 400 4 800
Abvo = 200 23| 4,600 11 2,200 12 2,400

FTHAE R 400 71| 28,400 34| 13,600 37/ 14,800
Joval)—0.75 FHE 150 75 11,250 21| 3,150 54 8,100

E#(2) el 600 88| 52,800 30| 18,000 58| 34,800

118278 [S=bkXb B 200 88| 17,600 40[ 8,000 48[ 9,600
11H28H |AR¥ Fx 200 50| 10,000 22| 4,400 28| 5,600
Abvy (A3 200 11] 2,200 1 200 10/ 2,000

EH i 200 42| 8400 19| 3,800 23| 4,600
Joval)—(0.75 FE 150 63|  9.450 27| 4,050 36| 5,400




36, —R&E (3 BR5E | 15N S BRFE(ES])

#R5EH &h MEESR| Eif 2| 2% | = | 2% | K= | €% &%
H== e e 300 43| 12,900 19 5,700 24| 7,200
118298 [RbyS = 200 6| 1,200 5/ 1,000 1 200
&t 670,000 316,600 353,400




12 A 535N IRSENER

36, —R&E (3 BR5E | 15N S BRFE(ES])
HR5EH @B MrEs| Bifi | S| €5 | 8E | €% | BE | &4 &%

12818 |FHE4 AR 300 57[ 17,100 24 7,200 33[ 9,900
Abvo (A3 200 18] 3,600 12| 2400 6| 1,200

B R ER AR 250 43| 10,750 21| 5250 22| 5,500

IR AT AR 300 43[ 12,900 18] 5400 25 7,500
Zoval)—(0.75 FE 150 55| 8,250 17 2,550 38/ 5,700

12848 |S=kTE xR 200 46 9,200 20[ 4,000 26 5200
Abvy (A3 200 15| 3,000 12| 2,400 3 600
Jowal)—0.75 FHE 150 41 6,150 21| 3,150 20[ 3,000

12858 [4Fd X 300 14 4,200 0 14| 4,200
1268 |5RHE4 AR 300 18] 5400 7| 2100 11| 3,300
Abvy (A3 200 9| 1,800 6| 1,200 3 600

i) I R BB AR 250 20( 5,000 15| 3,750 5| 1,250

FRHER AR 300 22| 6,600 19] 5,700 3 900

12A7H  |#H#%ABE = 200 9] 1,800 7| 1,400 2 400
Abvyo S 200 20| 4,000 11 2,200 9] 1,800
J0Oval)—(0.75 FHE 150 75| 11,250 64| 9,600 11 1,650

12888 [4Fd T 300 13[ 3,900 0 13| 3,900
Abvy f£= 200 4 800 0 4 800

128118 _[4F3 B 300 16 4,800 0 16/ 4,800
Abvo (A3 200 21| 4200 6| 1,200 15| 3,000

128128 |k ES (A3 200 6| 1,200 4 800 2 400
Abvy (A3 200 4 800 4 800 0 0

FHAE IR 400 35| 14,000 17| 6,800 18] 7,200

EH i 200 16| 3,200 16| 3,200 0 0
Joval)—0.75 FHE 150 92 13,800 50[ 7,500 42 6,300

HHA B 200 85| 17,000 28| 5,600 57/ 11,400

9 (% HER) et} 150 43| 6,450 11] 1,650 32[ 43800

128138 [RbyS (A3 200 17| 3,400 3 600 14| 2.800
TE{ERR AT 200( 116 23,200 87| 17,400 29| 5,800

K9 (Z M) EE] 150 14| 2100 14| 2100 0 0

128148 |BRX@RLH) FE 300 70| 21,000 38| 11,400 32| 9,600
Abvo (A3 200 19| 3,800 12| 2400 7] 1,400




35, — & E I ERSE

15N S IRSE(ESD)

BR5EH & B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 E%E

TEHHFT AR 200 6] 1,200 4 800 2 400

128158 [4F3 B 300 45| 13,500 11 3,300 34| 10,200
SZhb xR 200 27| 5400 0 27| 5,400

Abvy (A3 200 8| 1,600 2 400 6| 1,200
J0Oval)—(0.75 FHE 150 57| 8550 40[ 6,000 17| 2,550

128188 [4Fd i 300 56| 16,800 35 10,500 21| 6,300
Abvo (A3 200 12| 2,400 11] 2,200 1 200

EFf R 200 62| 12,400 27| 5400 35 7,000

RIFY-IR RiE 600 45| 27,000 26 15,600 19] 11,400

128198 |[4F3 B 300 12[ 3,600 0 12| 3,600
Abvo = 200 8| 1,600 8| 1,600 0 0

128208 |{Ef#HFR AR 200 94| 18,800 60| 12,000 34| 6,800
J0Oval)—(0.75 FHE 150 47( 7,050 47| 7,050 0 0

&2 AT 200 20| 4,000 19| 3,800 1 200

128218 [RbyY f£= 200 20[ 4,000 20[ 4,000 0 0
TEfERR AR 200 3 600 3 600 0 0

LEY i 150 90| 13,500 37| 5550 53| 7,950

128228 [4F3 X 300 55| 16,500 39| 11,700 16/ 4,800
128258 _[4F3 B 300 31 9,300 0 31 9,300
Abvy (A3 200 9| 1,800 0 9] 1,800

12H26H |[7RE— A3 200 12| 2,400 0 12| 2400
H AR FAR ) 5 300 75| 22,500 0 75| 22,500

128288 [4F3 B 300 61 18,300 0 61 18,300
T AZ— EE 200 8| 1,600 0 8] 1,600

Abvo f£= 200 35/ 7,000 0 35 7,000

&t 456,050 210,250 245,800




1A 75 RNERGERER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| Hiff | BE| €8 | & | €8 | ®WE | 4 ik

1848 1F3 B 300 100 30,000 0 100 30,000
Abvy (=3 200 17| 3,400 0 17| 3,400

1A5H TAZ— ES 200 5| 1,000 0 5| 1,000
Abvo S 200 5/ 1,000 0 5 1,000
ZOval)—(0.75 FFE 150 67/ 10,050 0 67/ 10,050

1H9H AF3 B 300 61] 18,300 41| 12,3300 20| 6,000
Ay €= 200 18] 3,600 18] 3,600 0 0

18108 [4Fd T 300 21] 6,300 0 21| 6,300
LEY B 150 53| 7,950 16| 2,400 37| 5550

1A11B  |7avyal)—(0.75 %FHE 150 78] 11,700 35 5250 43[ 6,450
18128 [4F3 B 300 53| 15,900 0 53| 15,900
H AR FAR) ¥ 300 54| 16,200 26| 7,800 28| 8,400

Abvo (A3 200 13| 2,600 0 13| 2,600

18158 [4Fd T 300 49| 14,700 36/ 10,800 13| 3,900
roLoVD RiE 100 60| 6,000 32| 3,200 28] 25800

18168 [FBOval)—(0.75 ¥ 150 49| 7,350 32| 4,800 17 2,550
1A18H [FL>YU™ RiE 100 30| 3,000 0 30| 3,000
18198 [4Fd X 300 60| 18,000 43| 12,900 17| 5,100
Z0Oval)—(0.75 FFE 150 50 7,500 36| 5400 14| 2100

1228 [{FoL>vY R 100 45| 4,500 26| 2,600 19] 1,900
18230 [4F3 B 300 86| 25,800 43| 12,900 43[ 12,900
Joval)—(0.75 FE 150 38/ 5,700 21| 3,150 17 2,550

1H26H [4F3 Fx 300 32| 9,600 0 32| 9,600
18298 [4F3d B 300 57| 17,100 38| 11,400 19| 5,700
g 247,250 98,500 148,750




2 A 5 AERFERER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| Hiff | BE| €8 | & | €8 | ®WE | 4 ik
2A2H 1F3 B 300 60[ 18,000 42| 12,600 18] 5400
2H5H AF3 B 300 65| 19,500 36/ 10,800 29| 8,700
2A6H J0Oval)—(0.75 FHE 150 33| 4,950 0 33] 4950
2H9H AF3 B 300 66| 19,800 46| 13,800 20| 6,000

HR¥E Fx 200 20| 4,000 0 20| 4,000

2138 |4F3 X 300 56| 16,800 0 56| 16,800
H AR F@ER D) e 300 38| 11,400 0 38| 11,400

2148 |BRFXERHD) FE 300 48| 14,400 44| 13,200 4] 1,200
28158 |[7@va—(0.75 EFE 150 44| 6,600 0 44| 6,600
216 |4F3 X 300 74| 22,200 51| 15,300 23| 6,900
28198 |4Fd B 300 72| 21,600 41| 12,300 31 9,300
2208 |4F3 X 300 18] 5,400 0 18] 5,400
28218 |[7Ova—(0.75 EFE 150 22| 3,300 0 22 3,300
2228  |4F3 T 300 53] 15,900 0 53| 15,900
2268 |4F3 B 300 104 31,200 47( 14,100 57| 17,100
282880 |BRXERM) Fx 300 45 13,500 0 45 13,500
&t 228,550 92,100 136,450




3RS EANERFENER

36, —R&E (3 BR5E | 15N S BRFE(ES])

#R5EH @B MrEs| Hifi | BE | €% | 88 | €% | BE | &4 &%
3H1H AF3 T 300 93| 27,900 51| 15,300 42| 12,600
RIFY-oIR RiE 600/ 114 68,400 41| 24,600 73| 43,800
3H4H AF3 B 300 72| 21,600 51| 15,300 21| 6,300
3A8H 1F3 B 300 99[ 29,700 49 14,700 50[ 15,000
3ANH  |4F3 B 300 97| 29,100 41| 12,300 56| 16,800
3158 |4F3 B 300 109 32,700 63| 18,900 46 13,800
3A18H |A4F3 B 300 93| 27,900 45| 13,500 48| 14,400
3198 |4F3 Fx 300 26| 7,800 0 26| 7,800
3228 |4F3 i 300/ 102| 30,600 57| 17,100 45 13,500
& 275,700 131,700 144,000




